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Name b.f t'l;e'Paﬁer.. ' Stati;;icai Methods
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uration :'3‘H‘ou:rs' P S \MaxlmumMarks 275 -
Vrite your .}'?o.ll No. :o.f' the . top in‘.uAnédialely on' receiﬁ! 'of' t{zis gitestion papéi-.) i o
A,ttempt_ six ciueétions in 'gl'l."‘ :
. Questlon ﬁNb; jl ‘is,“con;ﬁl.nlswy;f_' o
' A_tfeinpt ﬁt.{e r,r;o"rt-a g;les_t%pns,: is%léctiﬁg’ at-least.. _.
. -";wo"q;lgs-t'i;bné ﬂ:'o.m et.icii :;of" SectlonsA andB .

- - Use of simple calculator is-allowed. .

'@ Do the following : ..
(). For a platykurtic 'distl'-ibution"yz»'i_s..-;l\.,.‘.;ﬁ...f......,.,_. .
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: .f‘lme the. t)’ge of correlation coefficient wh’“?_

»

- an never pe- négative,

Se0eeniigg,. AL LT T
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(") As :
art
L P . of an’ e“Vlronmental 1mpact stud)"

lshes
: ,were ca “"ed t&gged and released

N

(2 ) e
i (fl') " Limits ‘of Bowley’s coefficient of skewnesS|
e O
(i) Attributes A and B are said to- be lndepeﬂde"t';:é
lf ...... _
® Thet limits ~for coefficient. of  association
Wl .

" maturation (0 = young

7353 .
, 1= adqlt); weight (gm).
The scalé of meésure.mentféf these Var-i,able-i‘

respectively 'is :

(a) . nominal, ratio, nominal, ratio;

()  nominal, interval, ordinal, ratio;

"~ (¢) * nominal, ratio, ordinal, ratio; -

" (@ ordinal, ratio, nominal, ratio. -

- Gii)

(@)

Examine. the consistency of the folldWiﬁg data :

N = 1500; (A). = 700; (B) = 600; (AB) = 160,

thé syrhbdl’s-having'the'ir usual- meaning. .

Can Y = 0 8X +5and X = -’7 5Y + IO represent,

- Imes of regress:on of Y on X and X ony? Justlfy

e

. Compue the Geometric mean of fj,

_numbers.

the answer.

rst n natural
1x5,2x5
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: EObtam mean and standard devratlon of sample of 5|ze tlj :
— °bta"‘ed by combmmg the “two samples - '_.Jf

- O, B (b
‘ ( )", : The f°"°“""g data gives’ the age drstnbutron of 2 grod o ( )

|J-

of workers ina, f‘actOry S o

e

Ages 'n'

L _‘Numbert)f g
. ".,Wt)rkers .
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105
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. most appropnate Measure of central tendency
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Find the mean deviation from ‘mean arid standard

- ,dev’iation of the arithmetic prqgression"a, a -_t d, a+2d,

..... » @+ 2nd and” prove that standard devtatlon Is greater *

than mean dev.iation about. mean‘.

Milk is sold at the rates of 8 10 and 12 rupees per Irtre '
in three dlfferent months Assummo that equal amounts .

 were spent on mnlk by a famt!y in the three months ﬁnd

the average prlce of milk in rupees per month usmo the

number of boys and glrls in the class.

PTO.
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s 0btam

‘-.correlatlon analysts are as follows .

o
G,

iy

Section B ", o

The equationg of two regressuon lines obtamefil in.#

3X*QY"*%3Y+9xé4a_'

he value of the correlatlon coeﬂ"clent,
M an values of X and Y,

The l'at:o of

| coeﬁ‘clent of vanabnhty Of X o
. that of v, ' ‘

.‘J"'Estl g : L -
o mate Y N X =15 and estimate x whef -
© Y=o ‘ S '

® .

Z‘,x = 385. where U
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Defi ine Spearman s rank correlatlon coeﬁ' icient ). Obtam

it for the followmo data

Rank (X) ;R,ankv(Y) '
4 : . o 5
6 - | "7
25  - 35
9 ‘ 0
6 1
| s T 3‘;5"
10 9
8 8 5
| 6 | 2 66

the followmg data

= IO‘ZU ='5.56, Zx =55, Zux ~3983 and
“IogY '

Obtam the estlmates of A

log gand B = log 5.

. PTO,
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for
Can vaccmatnon be regarded asa prevenuve measure

- small-pox from the ‘data ¢ glven below

_' ‘Of 1 500 persons ina Iocallty exposed to small-pOX 400

(@

| (_hven the fo]lowing data, fing the frequenc:les of :

R

®)

i3’

N

" in all were attacked .

‘Of 1 500 persons 350 had been vaccmated and of these

| on]y 40 were attacked.” 66

the remammg posmve clasSes and
. (ii)- the ultlmate classes

= 1800, (A) = g5, (B) = 780 (C) 326 (ABY) 200’, g

.}(ABC) - 94, (aBC) 72 and (ABC) = 30,

ln a tn-vanate dlstrlbutlon r12 = ,723"= Fi3=r Obtain
r |32 and R2 ’ -

633

700 -



